MANHATTAN
COMFORT

888-230-2225
help@manhattancomfort.com

Liberty Freestanding 63.00

Model # 213BMC6, 213BMC63, 213BMC64, 213BMC67, 213BMC68, 213BMC69,
213BMC9, 213BMC93, 213BMC94, 213BMC96, 213BMC97, 213BMC98

Ed. 002, 2018/April - Manhattan Comfort.



n.° ID | Parts Identification (Description) Quantity
01 Base 1
02 | Left Side Panel 1
03 | Right Side Panel 1
04 | Left Partition 1
05 | Right Partition 1
06 Lower Shelf 2
07 | Middle Shelf 1
08 | Rear Column 2
09 |Lower Panel 1
10 | Middle Panel 1
11 | Upper Panel 1
12 Middle Rear Bar 2
13 | Upper Rear Bar 1
14 | Lower Rear Bar 1
15 Back Panel 1
16 | Upper Shelf 1
17 Door 2
18 Wood Feet 4
5 MANHATTAN

COMFORT



o 0 @2
F)300990399029 _
FOmTIID
. o

(pa00

MANHATTAN
COMFORT



* Fix the feet (18) under the Base
(01) with bolts 5.5 x 65mm (A).

e Apply the protective felt (C) at
the lower end of the feet (18).

* Apply the plastic cover (B) on
top of the bolts (A).

e Connect the Side Panels (02)
and (03) and the Partitions (04)
and (05) onto the Base (01)
with dowels (D) and bolts (E).

e Connect the Middle Shelf (07) on
the Side Panels (02) and (03) and
the Partitions (04) and (05) with
dowels (D) and Minifix hardware
(F + G). At the end the fixing,
apply the adhesive covers (H).

e Apply the supports (P) in the
Partitions (04) and (05), for later
installation of the Shelves (06).

MANHATTAN
4 COMFORT



13

.

[IK+L
’\AL
ﬂl K+
i. TR+
) ‘Ei

e Line the floor with the cardboard and
the foam mantle of the packing to
protect the parts and arrange the
Lower Panel (09), Middle Panel (10)
and Upper Panel (11) with the rear
face upwards, checking correctly the
position of each part according to the
holes and the drawing.

e Join the Panels (09), (10) and (11),
correctly aligning its edges and
connect them with the steel plates
(J) and bolts (L) and with the

Middle Rear Bars (12) and

bolts 5.0 x 25mm (I).

K+L

[ K+L
i
K+L
\ﬁi"
h[

e Fix the Rear Columns (08),
posicioning them correctly in the
panels with dowels (D) and applying
the metal brackets (K) with bolts
3.5x 12mm (L).

* Fix the Upper Rear Bar (13) in the
Panel (11) and in the Columns (08)
with metal brackets (K) and bolts (L).

Rear face

Rear face

@

Rear face

[

e

e Connect the Lower Panel (09) onto
Middle Shelf (07) with dowels (D)
and apply bolts 5.0 x 50mm (E) to
fix the lower end of Columns (08)
on the Base (01) and the Lower
Panel (09) on the Middle Shelf (07).

MANHATTAN
COMFORT



Rear face

)
" ; G
f |— e Fix the Rear Columns (08) in the
W Side Panels (02) and (03), applying

the steel plates (J) with bolts (L),
Rear face as shown in drawing.

K e Fix the Lower Rear Bar (14) on the
Partitions (04) and (05) with bolts (E);
and in the Columns (08) with metal
brackets (K) and bolts (L).

‘\Q

Rear face

o
Rear face }
i E
i
Rear face
E
i E
)
Rear face i @
e Fix the Back Panel (15) with nails (M).

MANHATTAN
6 COMFORT



Preparing the Doors (17):
e Insert the plastic ring (Q) in the
Doors (17).

® Fix the hinges (N) on the Doors (17)
with bolts 3.5 x 14mm (0O), as shown
in the DETAIL 3.

i
I
[

e Connect the Upper Shelf (16) in the
Upper Panel (11) with dowels (D)
and bolts 5.0 x 50mm (E).

e Insert the plastic parts (R) in the
Middle and Upper Panels (10) and (11).

e Install the Shelves (06) by supporting
them on the supports (P) already
applied in the Partitions (04) and (05).

Installing the Doors (17):

e Fix the hinge connectors (N) of the
Doors (17) on the Left and Right
Side Panels (02) and (03) with
bolts 3.5 x 14mm (O), taking the
markings on the parts (02) and (03)
as reference for correct positioning.
The hinge connector includes two
bolts, shown in DETAIL 4. Use the
fixer bolt and the adjustment bolt
to tighten, adjust and align the doors.

MANHATTAN
COMFORT






